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SCPI $5$ &/

SCPI (Standard Commands for Programmable Instruments, BENAJ4RIZNEBInERSE) B—MESLENER
#E IEEE 488.1 1 IEEE 488.2 £#fi t, HE{E T IEEE754 frEFZE S TEMN . 1SO646 523 7 [ 4RHT
5 (FHHT ASCl Hi2) FZMERNRERNSERIZES. ATE N SCPI SR, 5. SHMYE
SEIWI

ke £

SCPI @ ARRB RGN, BEENFRE, BN FREH-TRXBFMN—ARBANBRRKBFHR. &
SITREUES: "Fih; XBFZEAES: "SR, XBFEARMBITENSHRE. ¥SXRFNE—
T ERZEUERSTF. FSTEFELALU— <RIT> (<NL>) FHER. fSTRERMEIS 2" EER
R TNREFEITE

535 B
TEMHFS TR SCPI L hiyRE, ThidSkk, BRBERATHMRAGSHNSH.

® XiES {}
AESHEEEEZNAESY, LEGSHLTUEFEEF—ISH. :DISPlay:GRID:MODE  { FULL
| GRID | CROSS | NONE}# 4.

o R4 |
EEATARSNISHIET, LAEGSHLIEFET—TSH,
#0:DISPlay:GRID:MODE { FULL | GRID | CROSS | NONE}#%> .

o FHES (]
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F:MEASure:NDUTY? [<source>]4%, [<source>]FR R AliEE.

o =AES <>
=AESHHS RV IMA— N ENERS%. 5121: UUDISPlay:GRID:BRIGhtness  30H9E R &%
DISPlay:GRID:BRIGhtness <count>#p4.

i

AFMNABAFLSHASHSHEATAS AT 5 #EE: m/RE, 23, 7, HHE. ASCI

FiFH.

o fH/REY

3/73




SHEMERON” (1) 3“OFF” (0). f5lan: :SYSTem:LOCK {{1 | ON} | {0 | OFF}},

o HR
MRIESBRA, SRAEBYETENTUBEERRE. F5: ki, EAERESEANERENX, BE
HINSE. fla0: :DISPlay:GRID:BRIGhtness <count>#34H )5 #< count >ATEY 0 Z 100 SEEIAAI{E
_gﬁo

e H
MRIEFBUE, SRESWETCERNATBREEE.
f5lgn: X}F CH1, CHANnell:OFFSet <offset>#r 4t i)5 #i<offset>AIBE A SEHY,

o EHE
SHAREEUEEN LN HERFRF. Hlan: DISPlay:GRID:MODE { FULL | GRID | CROSS | NONE}#»
SHSE A 4EA FULL, GRID, CROSS. NONE.

® ASCll Fff&#
FHESHIRETEERE ASCI FFE. FRHBLFUENH S STHEMER ; TR 23| SIS
SISHRMEAUMEAFHEN—B, REBABXFABALCEFERMETFR, HlaREIP:
SYST:COMM:LAN:IPAD "192.168.1.10".

FrBERLSHANEREIRA, AUEBRAXENE. MRELS, LIaTaSwRNFHNRERSFE,

BB E 5 RN BRI ERREE, BNIRIREEN NS AR, HhRRRARFHEERR, e |l
WMo RRERE=(IHIE, e MARBE=(IHIE; MEMEEELMTE IEEE 488.2 #& A7 17 85 MR,
HigX: #+ KEMSHFHNEEIEA—NFN] + BRHEKEN ASCIHE + BYHIE + ERM[\n],
B1aR#3123x00000000000000000\0 TRV R A 123 M F AN ERER RN, HPIRF123"E 3 MF
FHL.

AR HEEBIEATHEIE R RN,
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e e —

|IEEE488.2 BRA®<
*CLS

B HSER:
*CLS
B ThEEER
BMRE®S. BT EMAESERETNEHTERIEIRAT.

*ESE
B HeRA:
*ESE <enable_value>
*ESE?
B IhikEdid:
BRREEHGS. AT RERESHRESSERNE;
B RERER:
EEEREEHRETFRPHE.
G
*ESE 1 RERESHRTSEFERNERL
*ESE? EifiRE 1, fREEHRESEESHFINER 1
*IDN?
m SN
*IDN?
B IDhEEER:
RATFEaFEFER. mRiS. maFISHRGEREAS.
B RERER:
FER AR RES, FRFYS, RERAS.
B

UNI-T UT8805A, UT1A13460051200, VV0.01.0000

*RST

B SR
*RST




B IhEERA
BTFRER REHBEZHENEIRERREZEFATIZEH.

*OPC
B aSEN:
*OPC
*OPC?
B IhEEdA:
AT RS LA EMITRRAREME 1.
B RERER:
BiREHAT A X SHPITIRIER BT, 1RRTM, 0FRRKRTH-
m o Ef:
*OPC e EREMIRSAIE 1
*OPC? TiMRE 1, RRHAHELEHITER, RZKRTM
*SRE
B BN
*SRE <enable_value>
*SRE?
B IhaEdEA:
BRRFZERGS. BT RERSEKRERSFRNE,
B REHER:
EiMRE RS IEKRERE T ERNE.
m G
* SRE 1 WERSIEKRERESTFREN1
* SRE? EifRE 1, RRHENEKREETFREN L
*STB?
B SR
*STB?
B IhaEEA:
BT ERREFHEERE, ZERSFLEERNERREE.
B REHRER:
REFOHEFRLHAE.
m A

-




*TST?

B HSER:
*TST?
B ThEEER
AT R RERHIFEEERER.

m REER:
UEBERER.

B Ef)
* TST? +0( @), +1(—sZ AN LK)

*WAI

B &SRR
WA

B TheEhuid:
FRIETR .

*PSC

B HEREA:
*PSC {0 | 1}
*PSC?

B Thegdk:
ATRERF (1) HEIE (0) AMEFPERRLERESTFR, SRURKESES. MERESFES K
SETNEHEES. ESHERFES.

B REER:
IR [E N ERAELE .
B OEfG)
*PSC 0 ZHMEERZT NN S FRS
*PSC? TFifRE 0, RHAIZRAMBEBRZEMNEFESR
*RCL
m SR

*RCL{0|1]2]3]4}
B ThEkR:

BT MNAEBATE S R GRS R B STATE_<n>.sta SCEFFRLEEIRTS, Hb <n> HIEEHHF.
B EEER:

7173




9&0

g

*RCL 1 MHAEBNEXHRGRCHRF R STATE 1.sta a XHIFHANESERES
*SAV
m SR

*SAV{0[1]2]3]4}
B IhEEdA:
AT HERESFEBIRA I AF G RGER I RP ARSI STATE <n>sta 1, Hefp <n> A
EEMNEF.
B RERER:
Tto
LI 2 F
*SAV 1 RS FEBARBINF X B RG IR P RIRSH STATE 1.sta

*TRG

B BN
*TRG
B IDhEERER:
BFRHmmLnE.
B REHER:
TCo
m G
CONF:VOLT:DC
SAMP:COUN 5
TRIG:SOUR BUS
INIT URETEFHFME RS
*TRG il & =
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MEBEHFIER G

RTEHATRARNEZILE, NEE. WEFFHF. REVNELER. FSRHFHRE,

:ABORt
m SR
ABORt

B Ihegddk:
KIFTEARITHANE, KUEFERE “ML=R" RS-

B RERER:
Tto

m .
TRIG:SOUR IMM WEMLIRAIEMA
TRIG:COUN 10 WEMARBA 10 R
INIT BHMEARSEERN “FEME”
ABOR FRETZOR N 2

:FETCh?

B BN
FETCh?

B Thegdk:
FHERENETR, FHRAETRENERREER.

B REHER:
A AR = 545 -

m .
TRIG:SOUR IMM WEMLIRASEMA
TRIG:COUN 10 WEMAREA 10 R
INIT BRANRSRER “FHML”
FETC? IR[EN S 1

—5. 75122019E-04, -5.77518360E-04

!INITiate[:IMMediate]

B HSEN:
INITiate[:IMMediate]
B IhREREAR:
BLRGRSER “FHEMEL” KT,




EEIREN

TCo

245 .

TRIG:SOUR BUS WEMAIRADLME
TRIG:COUN 10 WEMARBA 10 R

INITiate BHMERSEERN “FEME”
*TRG EEMEES

FETC? 1R BN S 2z -

-5.75122019E-04, -5.77518360E-04

:OUTPut:TRIGger:SLOPe

wEER:

OUTPut:TRIGger:SLOPe {POSitive|NEGative}

OUTPut:TRIGger:SLOPe?

Thakdid -

WEARBEHR VM Comp BNC iE1#8E E voltmeter complete i H {5 S 89 14 .
BEIRE:

Eif)iRE VMC it fkop s S B9 R 1

Z451:

OUTPut:TRIGger:SLOPe POS VMC #i i IEBKORE S
OUTPut:TRIGger:SLOPe? iR [E POS

‘READ?

SN

READ?

Thaedlik -

FENREFNNRER, HERNSLER.
BERE:

LRIEFRNEHE,

=R

TRIG:COUN 4 WEMA 4 XNE
SAMP:COUN 1 BRMERE 1 MR
READ? EEUR[E] :

-1.23006735E-03,-1.30991641E-03,-1.32756530E-03,-1.32002814E-03
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:SAMPle:COUNt

B BoiER:
SAMPIe:COUNt {<count>|MIN|MAX|DEF}
SAMPIle:COUNt?
B DhRER
SRR IR TR ERREALE, ®EME 1( BN 7100, 000.

B RERER:
R E 8RN EFT R ERMEARE .

m .
TRIG:COUN 1 WEME 1 NE
SAMP:COUN 10 BRMERE 10 MERHE
SAMPIle:COUNt? EifR[E 10

:UNIT: TEMPerature {C|F|K}

B SR
UNIT:TEMPerature {C|F|K}
UNIT: TEMPerature?

B ThEEHER:
WERENERERNREAM (° C. ° F =X Kelvin) .
B EERER:
EimRENRE N SEFERN SN
.
UNIT:-TEMP F WERENEEFEANEMNR F
UNIT:-TEMP? EifRE: F
*UNREMOTE
B HEER:
*UNREMOTE
B IhaEEA:
MIZFRRIRE A MAERN, FHEIERIERE.
B EEER:

TCo




CALCulate ¥4

RTEREERREZZEEXNESY, TEAERVLER. EAERE. SitEE. FEEE.

:CALCulate:CLEar

m adiER:

CALCulate:CLEar[:IMMediate]
B IjREREA:

BRFFARERE. EREHRE. R ERMNELER.
B EEER:

Tco

:CALCulate:LIMit:CLEar

m SN
CALCulate:LIMit:CLEar[:IMMediate]

B IEEHR:

BRREMNAER, BEHRENRIERER. TREESFERCEHSFERATNFHSEFSR 11 1

( “TFRREY” ) #1912 fir( “ EFREM” ).

B REHER:
Tto
m
CALCulate:LIMit:CLEar 55 BRBRFIMIH 25 R

:CALCulate:LIMit:LOWer

m SN
CALCulate:LIMit:LOWer[:DATA] {<value>|MIN|MAX|DEF}
CALCulate:LIMit:LOWer[:DATA]? [{MIN|MAX|DEF}]

B Theedlk:
WERERIHTIRE.

B RERER:
EiRE REFRN TRE, SeE-1. 0E+15 £-1. 0E-15

m .
CALCulate:LIMit:LOWer —1. 0E+15 WERERANTRE —1. 0E+15
CALCulate:LIMit:LOWer? #ifiRE: —1. 0E+15
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:CALCulate:LIMit: UPPer

LEACg W

CALCulate:LIMit:UPPer[:DATA] {<value>|MIN|MAX|DEF}

CALCulate:LIMit: UPPer [:DATA]? [{MIN|MAX|DEF}]

Thaedkiid -

WERERKA EIRE, SEE+1. 0E-15 % 1. 0E+15

AL

iR E RERN A _ERIE.

=SB

CALCulate:LIMit:LOWer +1. 0E+15 WERERAWTRIE +1. 0OE+15
CALCulate:LIMit:LOWer? #ifREE . +1. 0E+15

:CALCulate:LIMit:STATe

SN

CALCulate:LIMit: STATe {ON|1|OFF|0}

CALCulate:LIMit: STATe?

Theedid -

1B P32t F BRAE IR

BEIRE:

iR = PR1EIR FE R R TS

)

CALCulate:LIMit: STATe ON BENREMIR
CALCulate:LIMit:LOWer? #EifR[E: ON

:CALCulate:TRANsform:HISTogram:ALL

Lo E W

CALCulate:TRANsform:HISTogram:ALL?

TheEdi -

EHESELRERE. TREEE., WERBUAR BN LREMRE T EHHE RIS RHER 5 .
BEE:

FIREFZE, TIREEZE, WERE, HAKE HERE. KT TRANERE, SHERI AN ERE.
=T ERACUERED .

245 .

CALCulate:TRANsform:HISTogram:ALL? EifRME:
-1.85337982E+08,+1.60497704E+07,39,12,0,1,0,3,
3,4,4,7,8,54,0
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:CALCulate:TRANsform:HISTogram:DATA

m SR
CALCulate:TRANsform:HISTogram: DATA?
B IhREREA:
EiE 7 BRI MR EIRE
B RERER:
HEH., BT TRAOVERE . SHEENRANERE. 5T LREAMERE.
LI 2 1F
CALCulate:TRANsform:HISTogram: DATA? iR [E
12,0,1,0,3, 3,4,4,7,8,5,4,0

:CALCulate:TRANsform:HISTogram:COUNt

B @SER:
CALCulate:TRANsform:HISTogram: COUNt?
B IhikEdid:
BB N EXERE S EHIRELSRIER N EERE
B EERER:
it HIN E SR .
m
CALCulate:TRANsform:HISTogram: COUN? EERE: +96

:CALCulate:TRANsform:HISTogram:POINts

m &diER:
CALCulate:TRANsform:HISTogram: POINts {<value>|MIN|MAX|DEF}?
CALCulate:TRANsform:HISTogram: POINts?

B IhEEdER:
BEEHHETREREES LIRSB(E B AIFEFE{10/20/40/100/200/400 }. IRLRFERNMMER: —
MATRTTREENNE, —MATESTLREZANEZ.

B RERER:
T HIAE R A

m
CALCulate:TRANsform:HISTogram: POINt 100 WEEHEREH
CALCulate:TRANsform:HISTogram: POINt? &R E: +100

:CALCulate:TRANsform:HISTogram:RANGe:AUTO

m R

14 /73




CALCulate:TRANsform:HISTogram:RANGe:AUTO {ON|1|OFF|0}
CALCulate:TRANsform:HISTogram:RANGe:AUTO?

TheEdiA -

BRSZAESEFEAENTRM LREIRE.

BEE:

0 (OFF) 3 1 (ON).

2451

CALCulate:TRANsform:HISTogram: RANGe:AUTO ON BRBEXEAEEHFEN TR LIREIZE
CALCulate:TRANsform:HISTogram: RANGe:AUTO? #EZiRE: 1, BABELTRE

:CALCulate:TRANsform:HISTogram:RANGe:LOWer

wSHER:
CALCulate:TRANsform:HISTogram:RANGe:LOWer {<value>|MIN|MAX|DEF}
CALCulate:TRANsform:HISTogram:RANGe:LOWer?

Thakdid -

BREEAENTRERE, ENSZEABMEEFEEFENTIRM EREZEINE.

BEIRE:

TIREFE(E, -1.0E+15 =-1.0E-15.

)

CALCulate:TRANsform:HISTogram: RANGe: LOWer +1.00000000E+06 BETRIRERE
CALCulate:TRANsform:HISTogram: RANGe: LOWer? iR E

+1.00000000E+06

:CALCulate:TRANsform:HISTogram:RANGe:UPPer

g
CALCulate:TRANsform:HISTogram:RANGe:Upper {<value>|MIN|MAX|DEF}
CALCulate:TRANsform:HISTogram:RANGe: Upper?

Thaedlik -

WEHALENLIRERE, FANSZAEmNEEESEN TR LIREFZEINEE.

IBEIE:

FIREFEME, +1.0E-15 E 1.0E+15.

=R

CALCulate:TRANsform:HISTogram: RANGe: LOWer +1.00000000E+06 & & FIREFZE
CALCulate:TRANsform:HISTogram: RANGe: LOWer? iR [E

+1.00000000E+06
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:CALCulate:TRANsform:HISTogram:STATe

WL

CALCulate:TRANsform:HISTogram:[:STATe] {ON|1|OFF|0}
CALCulate:TRANsform:HISTogram:[:STATe]?

ThiEdiit :

ERSEAESEME.

BEE:

0 (OFF) =t 1 (ON).

2451

CALCulate:TRANsform:HISTogram:STATe ON BREFEHE
CALCulate:TRANsform:HISTogram:STATe? EifRE: 1

:CALCulate:SCALe:DB:REFerence

SN

CALCulate:SCALe:DB:REFerence {<reference>|MIN|MAX|DEF}
CALCulate:SCALe:DB:REFerence? [{MIN|MAX|DEF}]

Theedid -

% E DB iRERS%E{E, SEf-200.0dB Z +200.0 dB.

BB :

#ifiR[E DB frEHSEE.

24

CALCulate:SCALe:DB:REFerence -10.0 % E DB #RERSE{E -10.0dB
CALCulate:SCALe:DB:REFerence? &R E: -10.0

:CALCulate:SCALe:DBM:REFerence

LiaCg e W

CALCulate:SCALe:DBM:REFerence {<reference>|MIN|MAX|DEF}
CALCulate:SCALe:DBM:REFerence? [{MIN|MAX|DEF}]

Theesid -

WEBENEEE dBm EFRAHEFRAEMES%EE, "3E 50, 75, 93, 110, 124, 125, 135, 150,
250, 300, 500. 600, 800. 900, 1000. 1200 = 8000 Q. Ltt&E{EH M dBm 1 dB #RE.

EEER:
EifiRE dBm ERREHERBERESEE.

41 :
CALCulate:SCALe:DBM:REF 300 A 300Q £EHBEBE dBm HFE
CALCulate:SCALe:DBM:REF? #ig3R[E : 300
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:CALCulate:SCALe:FUNCtion

B HSER:
CALCulate:SCALe:FUNCtion {DB|DBM}
CALCulate:SCALe:FUNCtion?

B ThEEHR:
IEBRFRERITE E AT F BOFRE R 3
B EEER:
EifiRERE L, DB 5 DBM.
LI 2 F
CALCulate:SCALe: FUNC DBM %$¥ DBM ¥R 7E iR 3]
CALCulate:SCALe: FUNC? #EifR[E: DBM

:CALCulate:SCALe:REFerence:AUTO

B SRR

CALCulate:SCALe:REFerence:AUTO {ON|1|OFF|0}

CALCulate:SCALe:REFerence:AUTO?
B IhEEdER:

BR%EA dB IrERYEMEESEENNGE. BR, F—PMUNEEEBERERENENSE.
B EEER:

EifiRE dB #RE R B ik FSZEMIIEERZS, 0 (OFF) 5 1 (ON).

L 2P
CALCulate:SCALe:REF:AUTO ON dB fRER BEENEFESEENIGERE
CALCulate:SCALe:REF:AUTO? )R 5]

:CALCulate:SCALe[:STATe]

m SN
CALCulate:SCALe[:STATe] {ON|1|OFF|0}
CALCulate:SCALe[:STATe]?

B IhaEEA:

BRSERARE R .
B RERER:

IR [EFRE iR B AIThEEIRAS, O (OFF) = 1 (ON).
m o Ef.

CALC:SCAL:STAT ON
CALC:SCAL:STAT?

Gt o
B 3
]
E #lt

=
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:CALCulate:AVERage[:STATe]

B SN
CALCulate:AVERage[:STATe] {ON|1|OFF|0}
CALCulate:AVERage[:STATe]?
B IhREREA:
BERSXERSGITEE.
B RERER:
EFiEREISITEENINEERT, 0 (OFF) 3 1 (ON).
m
CALC: AVER:STAT ON BR%GER
CALC: AVER:STAT? ]

ot
or
=
Ig]
=

:CALCulate:AVERage:ALL

m &S iER:
CALCulate:AVERage:ALL?
B IhEEdER:
BiRESGITEENER, SREANEHECENE). FEE. RXEMRNME.
B EEER:
BARFHE i EE, & AE &/\VE, 37+1.00000000E+01 3.
.
CALCulate:AVERage:ALL? iR :
+1.00520000E+03,+1.00512000E+03,+1.00527000
E+03,+4.13500000E-01

:CALCulate:AVERage:MINimum

B SR
CALCulate:AVERage:MINimum?
B IhaEEA:
TFiMEE ST EEER R/IME.
B RERER:
TiRE ST EEERZ &/ME (+1.00000000E+01 FER)
m .
CALCulate:AVERage: MIN? #ifREE . +1.00520000E+03

:CALCulate:AVERage:MAXimum

B SR
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CALCulate:AVERage:MAXimum?

Thigeduik -
ERRESFITEEERZ&EAE.
EEIREN

TiEREIFGHEELE R 2 HEAE (+1.00000000E+01 FZR,)
2545 :
CALCulate:AVERage:MAX? #Fifik[E:  +1.00520000E+03

:CALCulate:AVERage:AVERage

wERER:
CALCulate:AVERage:AVERage?
ThEESHIA -

BRI GiTEESERZ FHE.
BEEN:

TIREGITEEER FI9E (+1.00000000E+01 )
2451
CALCulate:AVERage:AVER? #ifRE:  +1.00520000E+03

:CALCulate:AVERage: COUNt

g

CALCulate:AVERage:COUNLt?

Theedid -

ERR ST EESERZITHE.

BEER:

TiRESGITEEER T HE (Hi#HD .

2451

CALCulate:AVERage:COUN? #ZFifiRME:  +129

:CALCulate:AVERage:PTPeak

Lo E W
CALCulate:AVERage:PTPeak?
TheEdHiA -
TRRE ST EEER C 1E-1EE.
BEER:

EHREIGITEEE R IE-1E{E (+1.00000000E+01 )
54 -
CALCulate:AVERage:PTP? #ifRE :  +1.00520000E+03




:CALCulate:AVERage:SDEViation

B SRR
CALCulate:AVERage:SDEViation?
B IhaEdEd:
MRS EEERCIVEEE.
B RERER:
HiERESGIHTEEER AR EEE (+1.00000000E+01 23D
LI 2 F
CALCulate:AVERage:SDE? #iiR[E:  +1.00520000E+03

:CALCulate:AVERage:CLEar[:IMMediate]

B HEBER:
CALCulate:AVERage:CLEar[:IMMediate]
B IhaEdER:
BRETZENSRITER, BEsIME. &XE. FIH%. E-1§. THEFRERE.
B RERER:
) .
B Ef:

CALCulate:AVERage:CLE BERGITER




CONFigure 3%

FATEERE. BR, B, BE. ZRE. X, B, EEFHAONEERE, RIS HATHNE

:CONFigure
B aSEN:
CONFigure?
B IEEHR:
Y ETNEIEAFIETE,
B RERER:
HifiRE: MEHAFFREN CURRAC), Ei%.
m .
CONFigure? IR [E: VOLT:DC,+2.00000000E+01

:CONFigure:CONTIinuity

L E W

CONFigure:CONTinuity

Theedid -

HEEEX TR ANESKNMAL SHRERERANE.

BEER:

Tco

2451

CONFigure:CONT HERHEX THRAENESRNMELSHIREARRANE

:CONFigure:DIODe

LACS B W

CONFigure:DIODe

Theesid -

BMERATHRANESHNMELSHIZEAHIKINE.

IBEIE:

TCo

245 .

CONFigure:DIOD BIMERX THRANESHANMELSHIREAHIKNE
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:CONFigure:CURRent:DC

e

CONFigure:CURRent:DC [{<range>|AUTO|MIN|MAX|DEF}]

Thaediik -

BEREBERMVNEEATHAANESHMMASHEEAERNE, XTBEEEASHREERE, EEA
¥E{200uA|2MA[20mA|200mA|2A|10AJAUTO}, BRIAE AUTO.

BEIRE:

Tco

=SB

CONFigure:CURR:DC BERERRATHRANESHMNMELSHIZEAHIKINE
CONFigure:CURR:DC 2A WEERBRENXTERER 2A

:CONFigure:CURRent:AC

wSHER:

CONFigure:CURRent:AC [{<range>|AUTO|MIN|MAX|DEF}]

TheEfid :

BRRERVNERATHAANESHMMELSEIRERNEINE, HAIBRSEANSHRESIE, 127
1%£{20mA|200mA|2A|10A|AUTO}, EKIA{E AUTO.

BB :

Tto

24

CONFigure:CURR:AC BERBREA THAANESHMMLSHIRE AEIKNE
CONFigure:CURR:AC 20mA RmERER TEER 20mA

:CONFigure:FREQuency

Lo i E W

CONFigure:FREQuency [{<range>|AUTO|MIN|MAX|DEF}]

TheEfHIA -

RN ERA T ANESHMASHIREHHINE, HFTBEEANSHRESIE, 2187
{200 mV|2 V|20 V|200 V|750V|AUTO}, EXIAME AUTO,

o

IBEIE:

TCo

Z4 .

CONFigure:FREQ BIEEXNTHABNESHANMELSEEEAREBRANE
CONFigure:FREQ 20V WEMEREATERR 20V
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:CONFigure:PERIiod

WL

CONFigure: PERIod [{<range>|AUTO|MIN|MAX|DEF}]

ThiEdiit :

BEASMNERX THRANESKNMELSHREAHINME, HATBIEANSHRESEIE, SIEFRE
{200 mV|2 V|20 V|200 V|750V|AUTO}, EKIA{E AUTO.

AL

Tco

=SB

CONFigure: PER BRBEXTHRBENESHNMELSKEEAEBRAE
CONFigure: PER 20V RERRRATEIER 20V

:CONFigure:RESistance

wERER:

CONFigure: RESistance [{<range>|AUTO|MIN|MAX|DEF}]

TheEfid :

B _BENERXTHRANESHMMELSHRERNEIAE, HABTEASHREERE, E1E7
%£{200Q[2 kQ[20 kQ|200 kQ|2 MQ |10 MQ|100 MQ |AUTO}, BkiA{E AUTO.

BB :

Tto

24

CONFigure: RES BB ERA THENESRMESEIRE HEERINE
CONFigure: RES 200 WEZZBMHEEXTERERN 2000

:CONFigure:FRESistance

Lo E W

CONFigure: FRESistance [{<range>|AUTO|MIN|MAX|DEF}]

TheEfHIA -

HBEBEBNERXNTHRANESHNMLSHREAERANE, (ABIEANSHREERE, 8127
1E£{200Q |2 kQ |20 kQ[200 kQ|2 MQ|AUTO}, BRIAME AUTO.

BEIRE:

TCo

245 .

CONFigure: FRES BLBEKRR THRANES ML SHREAHIKNE
CONFigure: FRES 2000 WEMEBERATERRERN 2kQ
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:CONFigure:TEMPerature

WL

CONFigure:TEMPerature [{FRTD|RTD|FTHermistor|THERmistor|TCouple|DEFault} [ {<type>|DEFault}]]
ThiEdiit :

HEREMNERXTHRANESKHMMELSHREAHINME, NATBIEANSEIRERLLABEE

B, BRI RTD; R TCouple fRAFANEFABIBAA JKIE[TINIR|S|B }, HERLLRZAR

Al

BEER:

Tco

2451

CONFigure:TEMP TCouple J &EEEENXTER TCouple #R3k,J 23!,

:CONFigure:VOLTage:DC

SN
CONFigure:VOLTage:DC [{<range>|AUTO|MIN|MAX|DEF}]
Thakdid -

J—rE/mEEJ:_t/)JJz#%"ﬁTE’JFEEJ“IE ﬁ*nﬁﬂﬁﬁﬁlﬁﬁh;ﬁﬂi'ﬂ1ﬁ &—Iﬁ ﬁzz)\’%i}ﬁlﬁﬁifi, Eiff—.r
#£{200 mV|2 V|20 V|200 V|1000 V |AUTO}, BRIA{E AUTO.

BEIRE:

Tto

24

CONFigure:VOLT:DC BERBEMNERXTHRAENESHMMEZSEEERNEEIAE.
CONFigure:VOLT:DC 200V wEERBEMNEEXTEIRR 200V

:CONFigure:VOLTage:AC

g

CONFigure:VOLTage:AC [{<range>|AUTO|MIN|MAX|DEF}]

TheEfHIA -

HRRBEMNEFEXNTHRANESHNMELSHREAERANE, HAIBIEANSHREERE, 8127
1%£{200 mV|2 V|20 V|200 V|750V |AUTO}, BKIAME AUTO.

IBEIE:

TCo

245 .

CONFigure:VOLT:AC BRRBEMNEEXTEHRAENESHMMELSEEEREEIAE.
CONFigure:VOLT:AC 20V WERXRBEMNSRATERAN 20V
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:CONFigure:CAPacitance

m SR
CONFigure:CAPacitance [{<range>|AUTO|MIN|MAX|DEF}]

m DBk,
BEAMNERXTHRAENESKHNMLSHREAHIANME, HATBIEANSHRESEIE, ST
{2nF|20nF|200nF|2uF |20uF| 200uF|10000uF |AUTO}, ZKIA{E AUTO.,

B RERER:
Tco

m o Ef:
CONFigure:CAP HREENERATHENESHNMELSEZEREBRIAE.
CONFigure:CAP 20uF WEBRRMERKATERHN 20V
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DATA #%

RTEBNUREGFNRE, SREREEERRE. MRKE SHRREEFES.

:DATA:POINts
B SRR
DATA:POINts?
B IhaEdEd:
BNREFHONESY, REAESF 1,000 MUEE,
B RERER:
ZEMNESE (F#HED -
m .
DATA:POIN? #EifR[E: 100
:DATA:LAST
B SR
DATA: LAST?
B ThEEHER:
REIRIE—XB N EE .
B RERER:
MEE B4
m G
DATA: LAST? iR [E: -4.79221344E-04 VDC

:DATA:REMove

m SR
DATA: REMove? <num_readings> [ WAIT]
B DhEEiA:

MALEE BB E F PiZEFH R <num_readings>E4 R . MRMEL R D F<num_readings>, BIEE T
WAIT 2%, MEEFE<num_readings>MNEL&RBMIT; BN, HEE—MEIR.

B RERER:

1~10000 MESHIRHIMELER, FIHIRME.
m E.

DATA:REM? 5 EifjiRME

—4. 55379486E-04, —4. 55975533E-04, —4. 56273556E-04,
—4. 53591347E-04, —4. 55379486E-04
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MEASure %%

BCEmE. B, BE. BE. ZRE. E. B, EEFHUNNESR, ERHERNE, Hi

IREYELER .

:MEASure:CONTinuity

SN

MEASure:CONTinuity?

Theediid -

HREEXTHRAENESHNMELSHEEARRAMNERHITONE, MNEERFEREIRE.
BEIRER:

MELER .

25

MEASure:CONT? il & — BTN E, HIRENESER: +9.84739065E+02

:MEASure:DIODe

SN

MEASure:DIODe?

Theedid -

BoMEEATHABENESHMMASEEERNEBRANERRHITONE, NEERFERED.
BEIRE:

MELER

24

MEASure:DIOD? fil & — X BHTMENE, FHIREIMEZER: +9.84733701E-01

:MEASure:CURRent:DC

LACS B W

MEASure:CURRent:DC? [{<range>|AUTO|MIN|MAX|DEF}]

ThaediRk -

BERERNEEATHRENESHFIMELSHEEANEBRAME, HTEIEASHEESRTRR, 2E7
1%{200uA|2MA|20mA|200mA|2A|10AJAUTO}, ZRIAE AUTO, MELERIGHIERE .,

BERE:

MELER

245 .

MEASure:CURR:DC? 2A WEERBRIEXNTEREN 2A, HIBRENELER: +2.43186951E-02

27173




:MEASure:CURRent:AC

LEACg W

MEASure:CURRent:AC? [{<range>|AUTO|MIN|MAX|DEF}]

Thaedkid -

BRRERMVNERATHAENESHMMELSEIREANERNE, HAIBZEASHIREERR, A
i%£{20mA|200mA|2A|L0A|AUTO}, ZIAME AUTO, MELRFEIZIRD.

AL

MELR .

=SB

MEASure:CURR:AC? 20mA  BWEXREREXNTEIERN 20mA, HIREINELER: +2.43186951E-02

:MEASure:FREQuency

Lo E W

MEASure:FREQuency? [{<range>|AUTO|MIN|MAX|DEF}]

ThiEfid :

HIMERNERX T ANESHMMASEREAHINE, HTRIEASHRESER, EEWiE
{200 mV|2 V|20 V|200 V|750V|AUTO}, BRiA{E AUTO.

BEER:

MELER.

2451

MEASure:FREQ? 20V WEMFREXNTERR 20V, FIREMELER: +2.43186951E-02

:MEASure:PERIiod

LEACg B W

MEASure: PERiod? [{<range>|AUTO|MIN|MAX|DEF}]

Theesid -

HRANERA THENESHMASEIRENERNE, HFTRIEASHRESEE, 8%
{200 mV|2 V|20 V|200 V|750V|AUTO}, ZIAE AUTO, MELREEIZIRE,

BREER:

MEBLER

=R

MEASure: PER? 20V WERBRATEREHR 20V, HIREINELER: +2.43186951E-02

:MEASure:RESistance

WL
MEASure: RESistance? [{<range>|AUTO|MIN|MAX|DEF}]
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B ThEEHA:
BB ENEEATHRMENESHIMELSHEEAERANME, SHTBIRASHEESRRR, EiF7
#{200Q 2 kQ[20 kQ[200 kQ|2 MQ|10 MQ|100 MQ|AUTO}, ZRIA{E AUTO, MELRIGEREED .

| | ﬂi[”ﬁfﬁ:

MELR .
m o Ef
MEASure: RES? 200 WEZZBMEERTEIZEN 200Q, FHIRENELEE: +2.43186951E-02

:MEASure:FRESistance

B @SER:
MEASure: FRESistance? [{<range>|AUTO|MIN|MAX|DEF}]

B IEEHR:
BULHEENSEEXTHRENESHIMELSHEEANHRRAME, STESEASHILESRR, 2EF
#%{200Q|2 kQ|20 kQ|200 kQ|2 MQ|AUTO}, ZRIAME AUTO, MELERIEEHIEIRE.

B RERER:
Tco
m
MEASure: FRES? 2000 WEMEBEERATERERN 2kQ, FHIRENELR: +2.43186951E-02

:MEASure: TEMPerature

SR
MEASure:TEMPerature? [{FRTD|RTD|FTHermistor|THERmistor|TCouple|DEFault} [ {<type>|DEFault}]]
B IhEEHR:
HRENERA THAENESHMMASEIRENHIRNE, STRBEASERERLIRELR. BA
fRk7 RTD; R TCouple IRKALEZE LB JIKIE|TINIRIS|B }, HERLLERZANT, MNELREE
EiRE,

B RERER:
MELER
m
MEASure:TEMP? TCouple J REBEBRA TR TCouple iR3k,J KA,

FHIREMEL5%R: -2.00000000E+02
:MEASure:VOLTage:DC

B HSEN:
MEASure:VOLTage:DC? [{<range>|AUTO|MIN|MAX|DEF}]
B IhREREAR:
HERBEMNEXRXTHRAENESHNMLSHREAERNANE, (AIBIEASHREETRE, EBEF
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1%{200 mV|2 V|20 V|200 V|1000 V |AUTO}, ZRIA{E AUTO, SNELERBEEERE.

BEIER:

MBLER

245 .

MEASure:VOLT:DC? 200V REERBEMNERKATERR 200V, HEREMELER:
+2.43186951E-02

:MEASure:VOLTage:AC

LEACg E W

MEASure:VOLTage:AC? [{<range>|AUTO|MIN|MAX|DEF}]

Theedid -

BRXRBENEFRXNTHABNESHANMELSHEEEAEBRAE, HABIEASHRESER, EEF

1%{200 mV|2 V|20 V|200 V|750V |[AUTO}, ZRIAME AUTO, MELERIEEIEIRE .

BEIRER:

MELER .

25

MEASure:VOLT:AC? 20V wWEXRBEMNEEXTERR 20V, FIREIMELER:
+2.43186951E-02

:MEASure:CAPacitance

LEACg B W

MEASure:CAPacitance? [{<range>|AUTO|MIN|MAX|DEF}]

Theedid -

HHREENERATHENESHNMEASEIREHERME, HFBEEASKEESRE, 2EE
{2nF|20nF|200nF|2uF |20uF| 200uF|10000uF |JAUTO}, ZRIAE AUTO, NIELEREHIERE.
BERE:

MELER

Z) .

MEASure:CAP? 20uF RERRMNERATEEN 20V, FHIREINELR: +2.43186951E-02
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SENSe #%

BCERE. B, BR. BE. ZRE. X, B, BEFHEUNUESH, VRNSHELEF.

:[SENSe:]FUNCtion[:ON]

weRER:

[SENSe:]JFUNCtion[:ON] "<function>"
[SENSe:]JFUNCtion[:ON]?

TheEsiA -

EEFENEHER, A% CONTinuity/ CURRent:AC/CURRent:DC/DIODe/FREQuency/FRESistance

/PERIiod/RESistance/TEMPerature/VOLTage:AC/VOLTage:DC/CAPacitance
BEIRER:
BifREN R HATNEERN .

4 :
FUNC "VOLT:AC" IRIFAREENEER
FUNC? #ifiRE: VOLT:AC

:[SENSe:]CURRent:DC:NULL[:STATe]

SN

[SENSe:]CURRent:DC:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]CURRent:DC:NULL[:STATe]?

Theedid -

BRSZAERBEREXNNIEAEINEE (BIEXHEINEE .

BEIRE:

HMBEEEAFNEIRE, 0k L(FE)-

=R

CURR:DC:NULL:STAT ON FRERBRIERXANE)IETINEE
CURR:DC:NULL:STAT? ERE: 1

It

[SENSe:]CURRent:DC:NULL:VALue

g
[SENSe:]CURRent:DC:NULL:VALue {<value>|MIN|MAX|DEF}
[SENSe:]CURRent:DC:NULL:VALue?

Thigeik -

BREERBREANEZTE (AEXE , SEE-12A £ 12A; FRIEFZERRE,
&,

BEHER

BRI EE=SCNE-)T
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EifEEAEFE.

m o Ef
CURR:DC:NULL: VAL 100mA W EYIAEEAN 100mA
CURR:DC:NULL: VAL? EifiRE : 100

:[SENSe:]CURRent:DC:NULL:VALue:AUTO

B HSER:
[SENSe:JCURRent:DC:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:JCURRent:DC:NULL:VALue:AUTO?

B IhEEER:
BRSZAERBERERNNENAFTEEE, FREE—MNEEIEZRAEAFE.
B EERER:
EimRE B aAFERFRE, 0CKA)K 1(FE).
m o Ef:
CURRent:DC:NULL:VAL:AUTO ON BRABEAFEIERE
CURRent:DC:NULL:VAL:AUTO? TifmRE: 1

:[SENSe:]CURRent:DC:RANGe

B HoRA:
[SENSe:]CURRent:DC:RANGe {<range>|MIN|MAX|DEF}
[SENSe:]CURRent:DC:RANGe?

B IhaEdEA:
FRIEIFNEEIE, SFZA1%E{200uA[2MA[20mA|200mA[2A|10A }, ZRIAE AUTO
B REHER:
EiREIHFTNEETRE.
m
CURRent:DC:RANGe 20 BEFHERE 20mA
CURRent:DC:RANGe? ifR[E : 20

:[SENSe:]CURRent:DC:RANGe:AUTO

m SN
[SENSe:]CURRent:DC:RANGe:AUTO {OFF|ON}
[SENSe:]CURRent:DC:RANGe:AUTO?

B IhREREAR:

BHSERBEEEERE.

B REEN:




TR E BENFEEIRRT, 0CKH)Z 1(FRE)-
m o Ef.

CURRent:DC:RANGe:AUTO ON

CURRent:DC:RANGe:AUTO?

I H
I
5 I
[a

[SENSe:]CURRent:DC: TERMinals

m BoRN:
[SENSe:]CURRent:DC:TERMinals {Small|Big}
[SENSe:]CURRent:DC: TERMinals?
B DhEEHEA:
% DC HRUNERL B AiME 200mA 3¢ 10A imF EAIEIR.
B RERER:
iR Eum AR,
m
CURRent:DC:TERM Big BINEEE A 10A iHF AR
CURRent:DC:TERM? #EifR[El : Big

:[SENSe:]CURRent:DC:NPLC

B GoER:
[SENSe:]CURRent:DC:NPLC {Slow|Medium|Fast}
[SENSe:]CURRent:DC:NPLC?

B IhaEdEA:
WEERERENARERE, AL Slow/Medium/Fast.

B EERER:
BiFREREFRER,

m o EEf
CURRent:DC:NPLC Medium W B FIERE
CURRent:DC:NPLC? EIR[E: Medium

:[SENSe:]CURRent:AC:NULL[:STATe]

m SN
[SENSe:]CURRent:AC:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]CURRent:AC:NULL[:STATe]?
B IhREREAR:
ERSEZERREREANTEDE (AEXHEINEE) .
B REEN:




EREVAFTEERT, 0(KHA) 1(FFE)-

2545 :
CURR:AC:NULL:STAT ON B RERER RN AT INEE
CURR:AC:NULL:STAT? THifRE: 1

[SENSe:]CURRent:AC:NULL:VALue

e

[SENSe:]CURRent:AC:NULL:VALue {<value>|MIN|MAX|DEF}
[SENSe:]CURRent:AC:NULL:VALue?

Iheesiik :

WEZREREXNAEE (BEE) , JEE-12 £ 12A; ARIEAZEEES

FE.

REIEN:

HiMREYIFE.

=SB

CURR:AC:NULL: VAL 100mA wEYVIFER 100mA
CURR:AC:NULL: VAL? EifiEE: 100

:[SENSe:]CURRent:AC:NULL:VALue:AUTO

g
[SENSe:]CURRent:AC:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:]CURRent:AC:NULL:VALue:AUTO?

Theedid -

BRSZAZABRERNNENAFTELEE, FREF—MI2EIEZRAAFTE.
BEIHEN:

HifiRE B AFERFRE, 0Kk L(FE).

Z) .

CURRent:AC:NULL:VAL:AUTO ON BRABEAFEIEE
CURRent:AC:NULL:VAL:AUTO? &EifRME: 1

:[SENSe:]CURRent:AC:RANGe

g

[SENSe:]CURRent:AC:RANGe {<range>|MIN|MAX|DEF}
[SENSe:]CURRent:AC:RANGe?

Thikfiit -

FENEFNEETE, EFEAIE{20mA[200mA|2A|10A }, BRIAE AUTO

R RN EE=SLNE-)T
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m REER:
EZEREIHATIEETE.

g
CURRent:AC:RANGe 20 BEFH=EIE 20mA
CURRent:AC:RANGe? EFifiRE: 20

[SENSe:]CURRent:AC:RANGe:AUTO

B SR
[SENSe:]CURRent:AC:RANGe:AUTO {OFF|ON}
[SENSe:]CURRent:AC:RANGe:AUTO?

B IhEEER:

R EABmAEERE.

B RERER:

EiEE BaARERRT, 0CKA)H 1(FRE).

m
CURRent:AC:RANGe:AUTO ON
CURRent:AC:RANGe:AUTO?

B H
i
5 I
[g]

:[SENSe:]CURRent:AC: TERMinals

@SR
[SENSe:]CURRent:AC:TERMinals {Small|Big}
[SENSe:]CURRent:AC:TERMinals?
B IhaEdEA:
1% AC ERMEE E A E 200mA 5 10A ik F EHIEIE,
B EERER:
iR i F A,
m
CURRent:AC:TERM Big HRMEAE R 10A iHF LR BEIR
CURRent:AC:TERM? #ifRE : Big

[SENSe:]JFREQuency:NULL[:STATe]

B HoRN:
[SENSe:]FREQuency:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]FREQuency:NULL[:STATe]?

B IhREREAR:
BERSEZEAMEEEEIEE (BIEXMEDRE .




EEIREN
EmREVAFTINEERTS, 0(KHA)H LFFR)-

5451
FREQ:NULL:STAT ON FFEMEER RN EVTFINGE
FREQ:NULL:STAT? EFifRE: 1

[SENSe:]JFREQuency:NULL:VALue

RN

[SENSe:]FREQuency:NULL:VALue {<value>|MIN|MAX|DEF}
[SENSe:]FREQuency:NULL:VALue?

Iheesiik :

WEMFRENXNIFE (BIEME) , -1.2E6 £ +1.2E6; FRVAZEIRERE,

&,

BB

HiMREYIFE.

=SB

FREQ:NULL: VAL 1kHz WEPAFEA 1kHz
FREQ:NULL: VAL? #ifiR[E : +1.00000000E-02

[SENSe:]JFREQuency:NULL:VALue:AUTO

woiER:

[SENSe:JFREQuency:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:]FREQuency:NULL:VALue:AUTO?

TheEfid :

ERSZARPREXNBNAFTEEE, FREE—NEELERAAFE.
BEE:

iR R BFFEEFRE, 0H)Zk L(FR)-

Z4 -
FREQ:NULL:VAL:AUTO ON BRBXAFEIERE
FREQ:NULL:VAL:AUTO? ZiRE: 1

:[SENSe:]FREQuency:VOLTage:RANGe

aPHER

[SENSe:]FREQ:VOLTage:RANGe {<range>|MIN|MAX|DEF}
[SENSe:]FREQ:VOLTage:RANGe?

Thikfiit -

RAKNEE=-CNE-AF

36/73




FIEFNEEIE, SFEAE{200 mV|2 V|20 V|200 V|750V }, ZRIAE AUTO

B RERER:
EifRE HETNEEE.

B G
FREQ:VOLT:RANG 20 BEFHEIRE 20V
FREQ:VOLT:RANG? EiRE: 20

[SENSe:]JFREQuency:VOLTage:RANGe:AUTO

B SR
[SENSe:]FREQuency:VOLTage:RANGe:AUTO {OFF|ON}
[SENSe:]FREQuency:VOLTage:RANGe:AUTO?

B IhikEdid:
2R B ahEEERE.

B RERER:
EiMRE BENARERKT, 0CEH)K L(FRB).

m o Ef:
FREQ:VOLT:RANGe:AUTO ON HEBENAEEIE
FREQ:VOLT:RANGe:AUTO? EZiRE: 1

:[SENSe:]PERiod:NULL[:STATe]

@SR
[SENSe:]PERiod:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]PERiod:NULL[:STATe]?

B IhaEdEA:
BRNEARRARANEAEINE (BIEXHEINEE) .

B EERER:
HiEREVEFAFNEERT, 0KA)K L(FFE).

m
PER:NULL:STAT ON F BB AR N 23T
PER:NULL:STAT? &EifRME: 1

:[SENSe:]PERiod:NULL:VALue

B HSREA:
[SENSe:]PERIiod:NULL:VALue {<value>|MIN|MAX|DEF}
[SENSe:]PERiod:NULL:VALue?

B Theeddk:




WERIEANEEE (BIENE , -1.2 £ +1.2 #; FBVEATIEERG, KK

BEIER:

HiREYIFE.

=R

PER:NULL: VAL 0.5s WEYIFER 0.5
PER:NULL: VAL? #EifRME: 0.5

:[SENSe:]PERiod:NULL:VALue:AUTO

B SR

[SENSe:]PERiod:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:]PERiod:NULL:VALue:AUTO?

Ihaedaik -

BRASZEARAPEXNNEIFTELE, FBREE—MUEEIEEAAEE.
IREIHER

iR E BaAFEEFRE, 0CEH)H L(FRB)-

4 ;
PER:NULL:VAL:AUTO ON BHEBmAFEIRE
PER:NULL:VAL:AUTO? EHifRE: 1

:[SENSe:]PERiod:VOLTage:RANGe

m &diER:

[SENSe:]PERIiod:VOLTage:RANGe {<range>|MIN|MAX|DEF}
[SENSe:]PERIiod:VOLTage:RANGe?

TheEfid :

FERFNEEIE, EFFAIE{200 mV|2 V|20 V|200 V|750V }, BRIA{E AUTO
BEE:

EiEEIHETNEERE.

4 :
PER:VOLT:RANGe 20 BEFHEIE 20V
PER:VOLT:RANGe? EifiRE: 20

:[SENSe:]PERiod:VOLTage:RANGe:AUTO

aPHER
[SENSe:]PERIiod:VOLTage:RANGe:AUTO {OFF|ON}
[SENSe:]PERIiod:VOLTage:RANGe:AUTO?

ThRESHIL -

HON B 1E=SENE-AFE.
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ERSERBEEER.

BEER:

TR E BRNAEERRE, 0K LFBE)-

Z451:

PER:VOLT:RANGe:AUTO ON FEBEshAREER
PER:VOLT:RANGe:AUTO? #iFRE: 1

.[SENSe:]RESistance:NULL[:STATe]

SN
[SENSe:]RESistance:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]RESistance:NULL[:STATe]?

Thakdid -

BRSER B ERANAETIEE (BIEXEIHE

BB

HiMREAFNEIRE, 0kHA)E L(FRE)-

=SB

RES:NULL:STAT ON F R BRI E I INEE
RES:NULL:STAT? EifEE: 1

:[SENSe:]RESistance:NULL:VALue

woiER:

[SENSe:]RESistance:NULL:VALue {<value>|MIN|MAX|DEF}
[SENSe:]RESistance:NULL:VALue?

TheEfid :

WEZ&HEEEXEEE (BIEE) , SBE-120 MQ E+120 MQ; FRVAEINEEE,

ST AR A

BEIHEN:

EimREYIFE.

=R

RES:NULL: VAL 0.1 W EAFEA 100m Q
RES:NULL: VAL? #EifRME: 0.1

:[SENSe:]RESistance:NULL:VALue:AUTO

aPHER
[SENSe:]RESistance:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:]RESistance:NULL:VALue:AUTO?

REHNEE
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Thigeduik -

BRZZER_&BERXENAFTELEE, FREE—MNEEILCRAEATE.
EEIREN

EimiRE BREFEEFRT, 0KH)HK 1(FFR).

4
RES:NULL:VAL:AUTO ON BREATEEEF
RES:NULL:VAL:AUTO? EFifRE: 1

:[SENSe:]RESistance:RANGe

LEACg E W

[SENSe:]RES:RANGe {<range>|MIN|MAX|DEF}

[SENSe:]RES:RANGe?

Thakdid -

FREIFNEEFE, SIEANE{200 Q2kQ[20kQ|200kQ 2 MQ |10 MQ|100 MQ}, BRIA{E 2
kQ,

BB

EiERIHETNEEE.

24

RES:RANGe 2000 BEFHMERE 2kQ
RES:RANGe? EifRE: 2000

:[SENSe:]RESistance:RANGe:AUTO

SN

[SENSe:]RESistance:RANGe:AUTO {OFF|ON}
[SENSe:]RESistance:RANGe:AUTO?

Theesid -

2R ERBahAEERE.

BEIHEN:

EifRE B AR EIRRT, 0CKHA)HK 1(FRE)-

Z) .

RES:RANGe:AUTO ON FREBERNAEERR
RES:RANGe:AUTO? HifjiRE: 1

:[SENSe:]RESistance:NPLC

Liaog e
[SENSe:]RESistance: NPLC {Slow|Medium|Fast}




[SENSe:]RESistance: NPLC?

Theedid -

WE B ERNHRFIRE, AJiE Slow/Medium/Fast.
BEIER:

TR B RAFIRE,

3R

RES:NPLC Medium W B IR
RES:NPLC? ZifR[E : Medium

:[SENSe:]FRESistance:NULL[:STATe]

LEACg E W

[SENSe:]JFRESiIstance:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]JFRESistance:NULL[:STATe]?

Thakdid -

BRSERAMN&BEBEXNIAEIEE (BIEXHENRE

BB

HIMREVAFERT, 0k L(FR)-

)

FRES:NULL:STAT ON FREASRRANEIETINEE
FRES:NULL:STAT? HifjikE: 1

:[SENSe:]FRESistance:NULL:VALue

woiER:
[SENSe:]JFRESistance:NULL:VALue {<value>|MIN|MAX|DEF}

[SENSe:]JFRESistance:NULL:VALue?
Tkt -

WENLHEEEXHTEE (BIEE) , SBE-120 MQ E+120 MQ; FRVAEINEEE,

ST AR A

IBEIE:

HiREYIFE.

=R

FRES:NULL: VAL 0.1 wEYVAFEA 100m Q
FRES:NULL: VAL? #EifjiRE: 0.1

:[SENSe:]FRESistance:NULL:VALue:AUTO

B SR

REHNEE

41 /73




[SENSe:]JFRESistance:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:]JFRESistance:NULL:VALue:AUTO?

B IhEEHAR:
BRSZEAMN&BEREXNNEAFTEEE, FREE—NMNEEIZRAEAFE.
B EERER:
EifiRE B AR ERFRE, 0Kk 1(FE).
LI 2 F
FRES:NULL:VAL:AUTO ON BREXAFEEE
FRES:NULL:VAL:AUTO? FiffiRE: 1

:[SENSe:]FRESistance:RANGe

B @SER:
[SENSe:JFRES:RANGe {<range>|MIN|MAX|DEF}
[SENSe:JFRES:RANGe?

B IhikEdid:
FEFNEEIE, BIEANIE{200 Q2kQ[20kQ|200kQ 2 MQ}, BRIAE 2
kQ,

B REHER:
EimRE HETNEEE.

m G
FRES:RANGe 2000 WEFHERE 2kQ
FRES:RANGe? iR E : 2000

:[SENSe:]FRESistance:RANGe:AUTO

m SN
[SENSe:]FRESistance:RANGe:AUTO {OFF|ON}
[SENSe:]JFRESistance:RANGe:AUTO?

B IhREREAR:
2R e A ahAEERE.

B RERR:

EiERE BahAREERIRT, KA 1(FR).

m o EEf
FRES:RANGe:AUTO ON FEBEEE
FRES:RANGe:AUTO? EifiRE: 1




:[SENSe:]FRESistance:NPLC

LEACg W

[SENSe:]JFRESiIstance: NPLC {Slow|Medium|Fast}
[SENSe:JFRESistance: NPLC?

Thaedkiid -

WE ML BMEENRRRFRE, 7k Slow/Medium/Fast.

AL

TR EIREFRE

25

FRES:NPLC Medium W E IERRA
FRES:NPLC? #EiFIR[E : Medium

:[SENSe:]VOLTage:DC:NULL[:STATe]

SRR
[SENSe:]VOLTage:DC:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]VOLTage:DC:NULL[:STATe]?

Theedid -

BRSZAERBEEXNEAEINEE (BIEXHEDNEE .

BEIRE:

HMBEEEAFNEIRE, 0kHA)K L(FRE)-

24

VOLT:DC:NULL:STAT ON FRERBEERIANE)AFTINEE
VOLT:DC:NULL:STAT? iR

[SENSe:]VOLTage:DC:NULL:VALue

g

[SENSe:]VOLTage:DC:NULL:VALue {<value>|MIN|MAX|DEF}
[SENSe:]VOLTage:DC:NULL:VALue?

TheEfHIA -

WEERBEEEXNIZTE (BFEXE) , JEE-1200 £+1,200V; FRVAEEER

(EREES=

IBEIHE:

EiREYIEE.

Z4 .

VOLT:DC:NULL: VAL 100mV ®EVIFEEA 100mV
VOLT:DC:NULL: VAL? EifmiEE: 100

B &R EE=32
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:[SENSe:]VOLTage:DC:NULL:VALue:AUTO

m BoRN:
[SENSe:]VOLTage:DC:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:]VOLTage:DC:NULL:VALue:AUTO?

B IhaEdEd:
BRSZEAERBEEXNNENAFTEEE, FREEF—MIEEIEZRAAFTE.
B RERER:
iR E BRI T EEFRE, 0(XH)3K L(FE)-
m .
VOLT:DC:NULL:VAL:AUTO ON BERBAFEEEF
VOLT:DC:NULL:VAL:AUTO? HifjikE: 1

:[SENSe:]VOLTage:DC:RANGe

SRR
[SENSe:]VOLTage:DC:RANGe {<range>|MIN|MAX|DEF}
[SENSe:]VOLTage:DC:RANGe?

B ThEEHER:
FhEFNEEFE, SFEAIE{200 mV|2 V|20 V|200 V|1000 V }, ZRIA{E 1000V,
B RERER:
EimRE HETNEEE.
m G
VOLT:DC:RANGe 20V WEFhEIE 20V
VOLT:DC:RANGe? #EifR[E: 20

:[SENSe:]VOLTage:DC:RANGe:AUTO

B HEER:
[SENSe:]VOLTage:DC:RANGe:AUTO {OFF|ON}
[SENSe:]VOLTage:DC:RANGe:AUTO?

B IhaEEA:
HH=E R BahAEERE.

B RERER:
TimRE B AR ERRKT, 0CkMA)K L(FR).

m A
VOLT:DC:RANGe:AUTO ON FREAEETR
VOLT:DC:RANGe:AUTO? HifjiRE: 1




:[SENSe:]VOLTage:DC:IMPedance:AUTO

B HSER:
[SENSe:]VOLTage:DC:IMPedance:AUTO {ON|1|OFF|0}
[SENSe:]VOLTage:DC:IMPedance:AUTO?

B IhaEdEd:
$txf DC BEMNEZMEE A BB ENERR.

B RERER:
B NBRIER IR, 0 (OFF) 8 1 (ON).

m .
VOLT:DC:IMPedance:AUTO  ON BB B BRITIER
VOLT:DC: IMPedance:AUTO? HifEE: 1

:[SENSe:]VOLTage:DC:NPLC

SRR
[SENSe:]VOLTage:DC:NPLC {Slow|Medium|Fast}
[SENSe:]VOLTage:DC:NPLC?

B IhEEEIR:
WEERBERARFERE, AJE Slow/Medium/Fast.

B EEER:
R B RERE

B Ef:
VOLT:DC:NPLC Medium BB PR
VOLT:DC:NPLC? #EifjiRE: Medium

:[SENSe:]VOLTage:AC:NULL[:STATe]

B SRR
[SENSe:]VOLTage:AC:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]VOLTage:AC:NULL[:STATe]?

B IhaEEA:
BRSERAZRBEEXNAEINEE (BIEXHENEE .
B RERER:
HMEEAFINEERES, 0 L(FFR)-
m A
VOLT:AC:NULL:STAT ON FRZRBERIANE)IEINEE

VOLT:AC:NULL:STAT? EifRE: 1




[SENSe:]VOLTage:AC:NULL:VALue

WL
[SENSe:]VOLTage:AC:NULL:VALue {<value>|MIN|MAX|DEF}
[SENSe:]VOLTage:AC:NULL:VALue?

ThRESHL -

WEAREEEANIZE (BIEME) , SEESEE-1200 £+1,200V; FRIIFIEEER, RAXMNSE

=STME-JAEME.

BEIRER:

iR EIFE.

25

VOLT:AC:NULL: VAL 100mV wEYVIFER 100mV
VOLT:AC:NULL: VAL? iR ME: 100

:[SENSe:]VOLTage:AC:NULL:VALue:AUTO

BEEN:

[SENSe:]VOLTage:AC:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:]VOLTage:AC:NULL:VALue:AUTO?

Ihaediik -

BRASZRAZAEERANENATEEE, AREE—MNE2EICEHEAFE.
B EIE

TR E BEAFRERZFRT, 0kA)HK L(FFB)-

24 ;
VOLT:AC:NULL:VAL:AUTO ON BHEmAFEILREF
VOLT:AC:NULL:VAL:AUTO? EifiRE: 1

:[SENSe:]VOLTage:AC:RANGe

g

[SENSe:]VOLTage:AC:RANGe {<range>|MIN|MAX|DEF}
[SENSe:]VOLTage:AC:RANGe?

TheEfHIA -

FHMEFNEEFE, SFEAE{200 mV|2 V|20 V|200 V|750 V }, ZRIA{E 750V,
BEER:

EiEEIHETNEERE.

4 :
VOLT:AC:RANGe 20 REFHEE 20V
VOLT:AC:RANGe? EFifjiRE: 20
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[SENSe:]VOLTage:AC:RANGe:AUTO

LEACg W

[SENSe:]VOLTage:AC:RANGe:AUTO {OFF|ON}
[SENSe:]VOLTage:AC:RANGe:AUTO?

Thaedkiid -

R R A aARER.

AL

HimRE BaAREERKRT, 0CkHA)HK L(FR)-

25

VOLT:AC:RANGe:AUTO ON FEEAEER
VOLT:AC:RANGe:AUTO? HifjikE: 1

[SENSe:]CAPacitance:NULL[:STATe]

wERER:
[SENSe:]CAPacitance:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]CAPacitance:NULL[:STATe]?

Theedid -

BRSXZERBEIEXNNETIEE (BIEEEE

BEIRE:

TR EAF IR, 0= 1(FFB)-

24

VOLT:AC:NULL:STAT ON FEBESERANNEIFTINE
VOLT:AC:NULL:STAT? TimEE: 1

[SENSe:]CAPacitance:NULL:VALue

g
[SENSe:]CAPacitance:NULL:VALue {<value>|MIN|MAX|DEF}
[SENSe:]CAPacitance:NULL:VALue?

ThaEda -

RERFRAWATE (BHEME , SEEEE-12 £+12mF; FRETER

YAFE

IBEIHE:

EiREYIEE.

Z4 .

VOLT:AC:NULL: VAL 100nF ®EYIFEEA 100nF
VOLT:AC:NULL: VAL? EifmiEE: 100

BRZZHN = E=3CN1E-
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[SENSe:]CAPacitance:NULL:VALue:AUTO

m SR
[SENSe:]CAPacitance:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:]CAPacitance:NULL:VALue:AUTO?
B IhREREA:
BERSZEAEREAN B AFTELE, FREE—IMNEEILCRARFE.
B RERER:
iR R BAFEEFRE, 0kH)Zk L(FR)-
m o Ef
CAPacitance:NULL:VAL:AUTO ON ERBmAFEERE
CAPacitance:NULL:VAL:AUTO? THiERE: 1

:[SENSe:]CAPacitance:RANGe

SRR
[SENSe:]CAPacitance:RANGe {<range>|MIN|MAX|DEF}
[SENSe:]CAPacitance:RANGe?

B ThEEHER:
FEHEFNEEFE, EFEAIE{2nF|20nF|200nF|2uF|20uF|200uF|2mF}, ZRIA{E 2uF.
B RERER:
EimRE HETNEEE.
.
CAPacitance:RANGe 2E-6 WEFoHEE 2uF
CAPacitance:RANGe? iR E: +2.00000000E-06

:[SENSe:]CAPacitance:RANGe:AUTO

m SR
[SENSe:]CAPacitance:RANGe:AUTO {OFF|ON}
[SENSe:]CAPacitance:RANGe:AUTO?

B IhEEdER:

HASEAEAEERE.
B RERER:

EiEE BaAEERRT, 0CKH)H 1(FRE).
LI 2 F

CAPacitance:RANGe:AUTO ON

B H
B I
5o I
[g]

CAPacitance:RANGe:AUTO?




[SENSe:]TEMPerature:NULL[:STATe]

LEACg W

[SENSe:]TEMPerature:NULL[:STATe] {ON|1|OFF|0}
[SENSe:]TEMPerature:NULL[:STATe]?

Thaedkiid -

BERZERRENSEXMNIAETIIEE (BIEXHENRE
AL

BiREVFFNERT, 0(3<H)3k.0

1FRE).

25

TEMP:NULL:STAT ON FRiRENERAAMNEIFINEE
TEMP:NULL:STAT? HifjikE: 1

[SENSe:]TEMPerature:NULL:VALue

SN
[SENSe:]TEMPerature:NULL:VALue {<value>|MIN|MAX|DEF}
[SENSe:]TEMPerature:NULL:VALue?

Thaedait -

BEEENEEXHAEE (BEE) , 8E-1.0E15 £+1.0E15; FR\ATIEERE, RA&HNSEE=

ME-VAFE.

BB :

HifREYIFE.

24

TEMP:NULL:VAL 25 WEPTER 25"
TEMP:NULL:VAL? #if)iR[E]: +2.50000000E+01

:[SENSe:]TEMPerature:NULL:VALue:AUTO

Lo i E W

[SENSe:]TEMPerature:NULL:VALue:AUTO {ON|1|OFF|0}
[SENSe:]TEMPerature:NULL:VALue:AUTO?

TheEfHIA -

ERSZAEENEEXNENFZERE, AREE—MUNEELERAEEE.
BEE:

EifE R BFEEEFRE, 0H)ZK L(FR)-

2451

TEMP:NULL:VAL:AUTO ON BERBmAFERE
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TEMP:NULL:VAL:AUTO? EFifiRE: 1

:[SENSe:]TEMPerature: TRANsducer: TYPE

m SRR
[SENSe:]TEMPerature:TRANsducer:TYPE {FRTD|RTD|FTHermistor|THERmistor|TCouple}
[SENSe:]TEMPerature: TRANsducer:TYPE?

B IhHEERR:
EEBENEFEAMNIRL, IHWIRLEIFETL RTD, M4 RTD. TLMASEBMAE. MULAKEENME,
(JIKIEITINIRISIB) SMEE1B,

B EERER:
iR ELR E N =5 AR LK E,

m o Ef)
TEMP:TRAN:TYPE: RTD IR NS = % RTD Rk
TEMP:TRAN:TYPE? EifRE: RTD

[SENSe:]TEMPerature:TRANsducer: TCouple:RJUNction

B HoRA:
[SENSe:]TEMPerature:TRANsducer:TCouple:RJUNction {<temperature>|MIN|MAX|DEF}
[SENSe:]TEMPerature: TRANsducer: TCouple:RJUNction?

B IhaEdEA:
WEREBNEEREFNNEESESEEE (BRUARKE) , SEE-20°C £ +80 °C.
B REHER:
TiREEESEHREE.
m G
TEMP:TRAN:TC:RJUN 20.0 AEENEREMNEESEHRERN 20.0° C
TEMP:TRAN:TC:TYPE? iR [E : +2.00000000E+01

:[SENSe:]TEMPerature: TRANsducer:TCouple:RJUNction:OFFSet:ADJust

m SN
[SENSe:]TEMPerature:TRANsducer:TCouple:RJUNction:OFFSet:ADJust
{<temperature>|MIN|MAX|DEF}
[SENSe:]TEMPerature:TRANsducer:TCouple:RIJUNction:OFFSet:ADJust?

B IhREREAR:
WERBBNEEEMVIMIEE (BAARKE) , LUMEEIE DMM wERE AR BN S BN 2 in
FRIFREZERIRE, SEE-20°C £ +20 °C,

B REEN:
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EifREAMEREE.

g
TEMP:TRAN:TC:RJUN:OFFS:ADJ -5 WEMERE-S C
TEMP:TRAN:TC:RJUN:OFFS:ADJ? IR E] : -5.00000000E+00

[SENSe:]TEMPerature:TRANsducer: TCouple:RJUNction: TYPE

B HSER:
[SENSe:]TEMPerature: TRANsducer:TCouple:RJUNction: TYPE {INTernal|FIXed}
[SENSe:]TEMPerature: TRANsducer:TCouple:RJUNction: TYPE?

B IEEHR:

WESELRERRE, TUERARBNEESESHNEEERE; HITRBENENLIIEESELE
mE o
B RERER:
HRESELLRERXKIE, FIXed (BZE) = INTernal (HER) o
m
TEMP:TRAN:TC:RJUN:TYPE FIX SELRERBEEERE
TEMP:TRAN:TC:RJUN 20.0 REEESEHREN 20.0° C
TEMP:TRAN:TC:RJUN:TYPE? EifiEE: FIX
[SENSe:]TEMPerature:TRANsducer:TCouple:TYPE
SR
[SENSe:]TEMPerature: TRANsducer:TCouple:TYPE {J|K|E|T|N|R|S|B}
[SENSe:]TEMPerature:TRANsducer:TCouple:RIJUNction: TYPE?
B IhEEdER:
BEABISNEREREANRELE, Tk IKIETINRISIB.
m EERR:
iR A A BN SR E AT E R AR EEE.
B
TEMP:TRAN:TC:YPE K £ K A BN EEE
TEMP:TRAN:TC:TYPE? FifRE: K

:[SENSe:]TEMPerature:TRANsducer:RTD:RESistance

B HSREA:
[SENSe:]TEMPerature: TRANsducer:RTD:RESistance[:REFerence] {<reference>|MIN|MAX|DEF}

[SENSe:]TEMPerature: TRANsducer:RTD:RESistance[:REFerence]? [{MIN|MAX|DEF}]
B IhREREAR:
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BE 2 % RTD UERTHY RTD A#RFREEFE, SEFE 50Q ZE 2000 Q; FEERESEFRNE SkfC B ARFREFE(RO).
IREIHE :
iR E RTD FRFREEPE.

2545 :
TEMP:TRAN:RTD:RES 20 % E RTD #r#REEPH RO = 20Q
TEMP:TRAN:RTD:RES? ZFif)R[E : +2.00000000E+01

[SENSe:]TEMPerature:TRANsducer:FRTD:RESistance

Lo E W

[SENSe:]TEMPerature:TRANsducer:FRTD:RESistance[:REFerence] {<reference>|MIN|MAX|DEF}
[SENSe:]TEMPerature:TRANsducer:FRTD:RESistance[:REFerence]? [{MIN|MAX|DEF}]

ThiEfid :

WE 4% RTD M=RTH RTD #RFREEFE, B 50Q ZF 2000 Q; FHERMESZFRNE KA E FRFREFE(RO).
BEE:

#ifIRE RTD FRFRELFE.

4 ;
TEMP:TRAN:RTD:FRES 20 ®E RTD #r#REEME RO = 20Q
TEMP:TRAN:FRTD:RES? ZFifiR[E : +2.00000000E+01

:[SENSe:]CONTinuity: THReshold:VALue

g

[SENSe:]CONTinuity:THReshold:VALue {<value>|MIN|MAX|DEF}
[SENSe:]CONTinuity: THReshold:VALue?

TheEfid :

W ERE MK EAYIPREE, SEE 0~2000 Q.

BEE:

iR [EIREBAEE.

2451

CONT:THR:VAL 2000 wEIPREFE{E 2000Q
CONT:THR:VAL? ZEif)iR[E: +2.00000000E+03
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TRIGger #4

BLENE . REHEXHNSH.
:TRIGger: COUNt

m SR
TRIGger:COUNt {<count>|MIN|MAX|DEF}
TRIGger:COUNt? [{MIN|MAX|DEF}]

B IhaEdEd:
BEMBRERNERATEZHNMLE.

B RERER:
iR E L H

m o Ef:
CONF:VOLT:DC BCEERBENE
TRIG:COUN 10 WERNERET 10 Nid %
TRIG:COUN? #EifR[E: 10
SAMP:COUN 5 WEMLNAERE S5 MIEE
READ? AR [E] 50 MNMUEE

:TRIGger:DELay

[ 2 E W
TRIGger:DELay {<seconds>|MIN|MAX|DEF}
TRIGger: DELay? [{MIN|MAX|DEF}]

B IhaEdEA:
WEMELZESMEIRNEZEER, SEE 1 Z 3600 .
B RERER:
EEREINEEIR -
m
TRIG:DEL 2 WEMEER 2 7
TRIG:DEL? #if)REE : +2.00000000E+00

:TRIGger:DELay:AUTO

m R
TRIGger:DELay:AUTO {ON|1|OFF|0}
TRIGger: DELay:AUTO?

B IhEERAR:
H R BB A EIRINEE

B RERER:



CONF:VOLT:DC

iR E (kM) 1(FR)-

g
TRIG:DEL:AUTO ON B Bl & IEIRINEE
TRIG:DEL:AUTO? THifRE: 1

:TRIGger:SLOPe

m SR
TRIGger:SLOPe {POSitive|NEGative}
TRIGger:SLOPe?
B IhikEdid:
LfEMA/EMEMR Ext Trig BNC EHEFRMANESEAMAL RN, ERIZGSEFEMLESRIE, G
(POS) T FEA(NEG)fR% -

B RERER:
HiFIREIfM A (ESHiE, POS (EFiB)3k NEG (TNR&E).
m .
TRIG:SLOP POS %FE EFIRMA
TRIG:SLOP? EifiR[E: POS

:TRIGger:SOURce

m ASEN:
TRIGger:SOURce {IMMediate|EXTernal| BUS}
TRIGger:SOURce?

B ThEEEA:
AMERFEMAIR, REAWNT:
IMMediate fEZES—EHFE. HIHIET "“FHEMEL” KSR, BuzLHMLES.
BUS —BRFHARLT “FHML” KT, *TRC oBidmigE ML (2.
EXTernal  {YZFEER Ext Trig MIAREAMAES, SMA—IERERENNERE

(SAMPIle:COUNt). IRRILERAEEZIF AR T —MoMERfR %L, MBS & —

Mk
B RERER:
Zif)iR B HATEE R LR
m .
TRIG:SOURce EXT prize LS p g
TRIG:SOURce? #EifIR[E: EXT
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SYSTem #%

BERGRESHEH. RBUNBREFRZRES.
:SYSTem:ERRor

m SR
SYSTem:ERROI:NEXT]?

B IhaEdEd:
EEVHERRIEIRAT R I — N EEIR
B EERER:
IREFIRBEBRER: <@ERAE> <BRFHFE>.
L IE-201 F
SYST:MERR? RiEER®S
SYST:ERR? 1R[E: -113,"Undefined header"

:SYSTem:BEEPer:STATe
B HSER:

SYSTem:BEEPer:STATe {ON|1|OFF|0}
SYSTem:BEEPer:STATe?

B IhEEdER:
HEREGE . CRERE RN T R A E RIS O SR, BRSS F
Ao
B RERER:
IR[EHEBARTS, 0K L(FFB)-
mEf:
SYST:BEEP:STATe ON FF B N
SYST:BEEP:STATe? 1RE: 1
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“m= i B

A E RIS IR IE I AT REH I — L [B) R R R 55k . HIHBRIN T X o) fant, 5%
FE R B9 BRI TR EE

RIEER
mIZEFTEMUERTE Windows #B{ERZ TER Visual Studio #1 LabVIEW FA&XT &
HITHRIZ.

BEBMINEHEREESTELLE N B VISA E (A # https://www.ni.com/en-
ca/support/downloads/drivers/download.ni-visa.html %) , ANXHFBRINLZERKE N
C:\Program Files\IVI Foundation\VISA.

BT ER% =AY USB 3¢ LAN 05 PC @S, 1B H USB BIR&IS (g E R ERAY
USB DEVICE ##05 PC #J USB O #i%E, & {FEHA LAN BIR&EIF (U HF & & EHERAY LAN
N5 PC B9 LAN ¥ 0OtH%E.

VISA 4tz fl

AVGRE T —LRIER. BEXLEMTF, RAILTRBNAER VISA, AESRIEFMAI®
SEIFIHL R FHIES] . BE TEMGF, RAUFLXEZNA.

VC++75 45l

B IfiE. Window &%, Visual Studio.
B A B3 USBTMC 1 TCP/IP ifa){L88i% %, FH7 NI-VISA E%&i%"*IDN?"dp$RE

HgEER.
n TE:

1. FTF Visual Studio I, FiE—1 VC++ win32 console project,
. REBAN-VISA BB IE, 23R8 SENSE.
a) BRASEE:
7 NI-VISA L% 38124k visa.h, visatype.h, visa32.lib x4, BEN1EHIZ VC++THR
REEETHRMBEITEF. 7 projectname.cpp X LRI T HIFH TG

#include "visa.h"
#pragma comment(lib,"visa32.lib")

b) BHASEE:
= "project>>properties”, 7EEMITIEHELMIEE "c/c++---General"d, 1% "Additional
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https://www.ni.com/en-ca/support/downloads/drivers/download.ni-visa.html#442805
https://www.ni.com/en-ca/support/downloads/drivers/download.ni-visa.html#442805

Include Directories"IFIEIRE 73 NI-VISA BIREREE, (fflan: C:\ProgramFiles\IVI
Foundation\VISA\WWinNT\include), 21 T~ & Fi 7R:

USBTEC _V¥WriteRead Property Pages

Configuration: |Active (Debug)

‘_J Configuration Propert)

General
Debugging
3 C/TH
¥ General
Optimization
Preprocessor
Code Generstion
Language
Precompiled Hea
Output Files
Browse Informat
Advanced
Conmand Line
() Linker
) Browse Information
) Build Events
() Custom Build Step
(] ¥eb Deployment

Rezolve #using References
Debug Information Format
Suppress Startup Banner Yes (fnologo)
Warning Leval Level 3 (/73)
Detect B4-bit Portability Iss Yes (/¥p64)
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£ projectname.cpp 3 LN visa.h X

#include <visa.h>
i5AG
USBTMC 745l
int usbtmc_test()
{ ** This code demonstrates sending synchronous read & write commands
* to an USB Test & Measurement Class (USBTMC) instrument using NI-VISA
* The example writes the "*IDN?\n" string to all the USBTMC
* devices connected to the system and attempts to read back
* results using the write and read functions.
* Open Resource Manager
* Open VISA Session to an Instrument
* Write the Identification Query Using viPrintf
* Try to Read a Response With viScanf
* Close the VISA Session*/
ViSession defaultRM;
ViSession instr;
ViUInt32 numinstrs;
ViFindList findList;
ViStatus status;
char instrResourceString[VI_FIND_BUFLEN];
unsigned char buffer[100];
int i
status = viOpenDefaultRM(&defaultRM);




if (status < VI_SUCCESS)

{

}

printf("Could not open a session to the VISA Resource Manager!\n");

return status;

/*Find all the USB TMC VISA resources in our system and store the number of resources in the system in

numinstrs.*/
status = viFindRsrc(defaultRM, "USB?*INSTR", &findList, &numinstrs, instrResourceString);
if (status<VI_SUCCESS)

{

}

printf("An error occurred while finding resources. \nPress Enter to continue.");
fflush(stdin);

getchar();

viClose(defaultRM);

return status;

/** Now we will open VISA sessions to all USB TMC instruments.

*

*

*

*

*

We must use the handle from viOpenDefaultRM and we must
also use a string that indicates which instrument to open. This
is called the instrument descriptor. The format for this string
can be found in the function panel by right clicking on the
descriptor parameter. After opening a session to the

device, we will get a handle to the instrument which we

will use in later VISA functions. The AccessMode and Timeout
parameters in this function are reserved for future

functionality. These two parameters are given the value VI_NULL. */

for (i = 0; i < int(numlnstrs); i++)

{

if (i > 0)
{
viFindNext(findList, instrResourceString);
}
status = viOpen(defaultRM, instrResourceString, VI_NULL, VI_NULL, &instr);
if (status < VI_SUCCESS)
{
printf("Cannot open a session to the device %d. \n", i + 1);
continue;
}
[** At this point we now have a session open to the USB TMC instrument.
*We will now use the viPrintf function to send the device the string "*IDN?\n",
*asking for the device’s identification. */
char * cmmand = "*IDN?\n";

status = viPrintf(instr, cmmand);

59 /73




if (status < VI_SUCCESS)

{
printf("Error writing to the device %d. \n", i + 1);
status = viClose(instr);
continue;

}

/** Now we will attempt to read back a response from the device to
*the identification query that was sent. We will use the viScanf
*function to acquire the data.

*After the data has been read the response is displayed. */

status = viScanf(instr, "%t", buffer);

if (status < VI_SUCCESS)

{
printf("Error reading a response from the device %d. \n", i + 1);
}
else
{
printf("\nDevice %d: %s\n", i + 1, buffer);
}

status = viClose(instr);
}
/*Now we will close the session to the instrument using viClose. This operation frees all
system resources.*/
status = viClose(defaultRM);
printf("Press Enter to exit.");
fflush(stdin);
getchar();

return O;

int _tmain(int argc, _TCHAR* argv([])
{
usbtmc_test();

return O;

b) TCP/IP =15
int tcp_ip_test(char *pIP)
{
char outputBuffer[VI_FIND_BUFLEN];
ViSession defaultRM, instr;
ViStatus status;

/* First we will need to open the default resource manager. */




status = viOpenDefaultRM(&defaultRM);
if (status < VI_SUCCESS)
{

printf("Could not open a session to the VISA Resource Manager!\n");

}

/* Now we will open a session via TCP/IP device */

char tail[] = "::inst0::INSTR";

strcat(head, pIP);

strcat(head, tail);

status = viOpen(defaultRM, head, VI_LOAD_CONFIG, VI_NULL, &instr);

if (status < VI_SUCCESS)

{
printf("An error occurred opening the session\n");
viClose(defaultRM);

}

status = viPrintf(instr, "*idn?\n");

status = viScanf(instr, "%t", outputBuffer);

if (status < VI_SUCCESS)

{
printf("viRead failed with error code: %x \n", status);
viClose(defaultRM);
}
else
{
printf("\nMesseage read from device: %*s\n", 0, outputBuffer);
}

status = viClose(instr);
status = viClose(defaultRM);
printf("Press Enter to exit.");
fflush(stdin);

getchar();

return O;
}
int _tmain(int argc, _TCHAR* argVv([])
{

printf("Please input IP address:");
char ip[256];

fflush(stdin);

gets(ip);

tcp_ip_test(ip);

return O;




W N FE R

IfE: Window &%, Visual Studio.
A : @id USBTMC #1 TCP/IP if[a){{ 8% %, F7E NI-VISA &% IDN?"dp S RKE

HgEEER.
G

FTH Visual Studio %, #FHiE—/ C# console project.
N VISA B9 C#5| B Ivi.Visa.dll 1 Nationallnstruments.Visa.dll.

NELEE
USBTMC 7151

class Program

{
void usbtmc_test()
{
using (var rmSession = new ResourceManager())
{
var resources = rmSession.Find("USB?*INSTR");
foreach (string s in resources)
{
try
{
var mbSession = (MessageBasedSession)rmSession.Open(s);
mbSession.RawlO.Write("*IDN?\n");
System.Console.WriteLine(mbSession.RawlO.ReadString());
}
catch (Exception ex)
{
System.Console.WriteLine(ex.Message);
}
}
}
}
void Main(string[] args)
{
usbtmc_test();
}

b) TCP/IP 7R

class Program
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void tcp_ip_test(string ip)

{
using (var rmSession = new ResourceManager())
{
try
{
var resource = string.Format("TCPIP0::{0}::inst0::INSTR", ip);
var mbSession = (MessageBasedSession)rmSession.Open(resource);
mbSession.RawlO.Write("*IDN?\n");
System.Console.WriteLine(mbSession.RawlO.ReadString());
}
catch (Exception ex)
{
System.Console.WriteLine(ex.Message);
}
}
}

void Main(string[] args)

{
tcp_ip_test("192.168.20.11");




a)

IME: Window %%, Microsoft Visual Basic 6.0

Ak @i USBTMC #0 TCP/IP iffial{Y &8 &, H7E NI-VISA E&ZE™IDN?"H & RE
WgEER.

-’IJJ/:E%:

FTFF Visual Basic 3, H#i@—MrERRRAEFIE.

WEERH NI-VISA EIMBiftE: =i Existing tab of Project>>Add

Existing Item, 7& NI-VISA &I i&Z2 TRy include"SZ R EH visa32.bas STHFERN
1z, T EIFTR:

Add NModule 21X

New Existing I
Look in: [(__1 include L] = B cx B~

4vppty'pc bas

File name: [vi3432. bas Open @)

Files of type: [Bu:c Files (» basx) L] Cancel I
Help (H) I

7 Don’ t zhow thixz dialog in the future

pEYTE

USBTMC 751

PrivateFunction usbtmc_test() AsLong

' This code demonstrates sending synchronous read & write commands
'to an USB Test & Measurement Class (USBTMC) instrument using NI-VISA
' The example writes the "*IDN?\n" string to all the USBTMC

' devices connected to the system and attempts to read back

' results using the write and read functions.

' The general flow of the code is

' Open Resource Manager

' Open VISA Session to an Instrument

' Write the Identification Query Using viWrite

' Try to Read a Response With viRead

' Close the VISA Session
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Const MAX_CNT = 200

Dim defaultRM AsLong

Dim instrsesn AsLong

Dim numinstrs AsLong

Dim findList AsLong

Dim retCount AsLong

Dim status AsLong

Dim instrResourceString AsString *VI_FIND_BUFLEN
Dim Buffer AsString * MAX_CNT

Dim i Asinteger

' First we must call viOpenDefaultRM to get the manager

" handle. We will store this handle in defaultRM.

status = viOpenDefaultRM(defaultRM)

If(status < VI_SUCCESS) Then
resultTxt. Text = "Could not open a session to the VISA Resource Manager!"
usbtmc_test = status

ExitFunction

EndIf

' Find all the USB TMC VISA resources in our system and store the
" number of resources in the system in numinstrs.
status = viFindRsrc(defaultRM, "USB?*INSTR", findList, numinstrs, instrResourceString)
If (status < VI_SUCCESS) Then
resultTxt.Text = "An error occurred while finding resources."
viClose(defaultRM)
usbtmc_test = status
ExitFunction

EndIf

' Now we will open VISA sessions to all USB TMC instruments.
'We must use the handle from viOpenDefaultRM and we must
"also use a string that indicates which instrument to open. This
"is called the instrument descriptor. The format for this string

' can be found in the function panel by right clicking on the

' descriptor parameter. After opening a session to the




" device, we will get a handle to the instrument which we

"will use in later VISA functions. The AccessMode and Timeout

' parameters in this function are reserved for future

' functionality. These two parameters are given the value VI_NULL.

For i =0 To numinstrs

If (i>0) Then
status = viFindNext(findList, instrResourceString)
EndIf

status = viOpen(defaultRM, instrResourceString, VI_NULL, VI_NULL, instrsesn)
If (status < VI_SUCCESS) Then

resultTxt. Text = "Cannot open a session to the device " + CStr(i + 1)
GoTo NextFind
Endlf

" At this point we now have a session open to the USB TMC instrument.
"We will now use the viWrite function to send the device the string "*IDN?",
" asking for the device's identification.
status = viWrite(instrsesn, "*IDN?", 5, retCount)
If (status < VI_SUCCESS) Then
resultTxt. Text = "Error writing to the device."
status = viClose(instrsesn)
GoTo NextFind
EndIf

' Now we will attempt to read back a response from the device to
' the identification query that was sent. We will use the viRead
' function to acquire the data.
' After the data has been read the response is displayed.
status = viRead(instrsesn, Buffer, MAX_CNT, retCount)
If (status < VI_SUCCESS) Then
resultTxt. Text = "Error reading a response from the device." + CStr(i + 1)
Else
resultTxt.Text = "Read from device: " + CStr(i + 1) + " " + Buffer
EndIf
status = viClose(instrsesn)

Next i

" Now we will close the session to the instrument using
'viClose. This operation frees all system resources.
status = viClose(defaultRM)

usbtmc_test=0

EndFunction




b) TCP/IP =15l
PrivateFunction tcp_ip_test(ByVal ip AsString) AsLong
Dim outputBuffer AsString * VI_FIND_BUFLEN
Dim defaultRM AsLong
Dim instrsesn AsLong
Dim status AsLong

Dim count AsLong

' First we will need to open the default resource manager.

status = viOpenDefaultRM(defaultRM)

If (status < VI_SUCCESS) Then
resultTxt.Text = "Could not open a session to the VISA Resource Manager!"
tcp_ip_test = status

ExitFunction

EndIf

' Now we will open a session via TCP/IP device
status = viOpen(defaultRM, "TCPIPO::" + ip + "::inst0::INSTR", VI_LOAD_CONFIG, VI_NULL, instrsesn)
If (status < VI_SUCCESS) Then
resultTxt. Text = "An error occurred opening the session"
viClose(defaultRM)
tcp_ip_test = status
ExitFunction
EndIf
status = viWrite(instrsesn, "*IDN?", 5, count)
If (status < VI_SUCCESS) Then
resultTxt. Text = "Error writing to the device."
EndIf
status = viRead(instrsesn, outputBuffer, VI_FIND_BUFLEN, count)
If (status < VI_SUCCESS) Then
resultTxt. Text = "Error reading a response from the device." + CStr(i + 1)
Else
resultTxt.Text = "read from device:" + outputBuffer
EndIf
status = viClose(instrsesn)
status = viClose(defaultRM)
tcp_ip_test=0

EndFunction




LabVIEW 7=l

IfE: Window &%, LabVIEW.
A : #id USBTMC #1 TCP/IP 1hia{ 8% %, F1E NI-VISA EAE"IDN?"@ & KE
WgEER.
-’I_fg%
FTFF LabVIEW Ef, HOIE— VI XH-.
/IJ\\j]MI'ﬁ: GERIERAE, MEHIFIFIERFEHRMN VISA BER. HIRE
AR AR BB T HUHE TR T o
?Tﬂl:lﬁﬁ A VISA RFEZMR, FHEBEIEMN VISA ERFPIEEFRM T
g€: VISA Write. VISA Read. VISA Open #1 VISA Close.
VI TFH T —1 USBTMC %% VISA £1&, HEIRZE*IDN?GSHEIEHMME. X
ErBIBIESTEAAT, VIIEXF VISA £1&, WTERMR:

|ﬂDN?= 236

VISAEHRERR

VISR,

g TCP/IP 5ig&AEXMT USBTMC [ERRFEZE VISA ERHA VISA R HIK
B ARZ II0,LabVIEW BRIANKEBERFP 10. AREFT R, RENRIEXEDR
#,"Synchronous /O Mode>>Synchronous"ASEIN[E] 26 B NS IEENVEE, N TNER:

ERUERX

En:l

41 256 -
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=
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MATLAB =3l

B IfiE: Window &%, MATLAB.

m ik @i USBTMC 1 TCP/IP ii[al{25i%#&, FH7E NI-VISA E&iX"™*IDN?"6G&RE
HR&EER.

5

1. 3TFF MATLAB &, 57 Matlab REH File>>New>>Script 8| —M=H M XX,
PEYEE

a) USBTMC 7=l
function usbtmc_test()
% This code demonstrates sending synchronous read & write commands
% to an USB Test & Measurement Class (USBTMC) instrument using
% NI-VISA

%Create a VISA-USB object connected to a USB instrument

vu = visa('ni','USBO0::0x5345::0x1234::SN20220718::INSTR");

%Open the VISA object created

fopen(vu);

%Send the string "*IDN?",asking for the device's identification.

fprintf(vu,”*IDN?");
%Request the data

outputbuffer = fscanf(vu);

disp(outputbuffer);

%Close the VISA object
fclose(vu);
delete(vu);

clear vu;

end
b) TCP/IP 7R
function tcp_ip_test()

% This code demonstrates sending synchronous read & write commands
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% to an TCP/IP instrument using NI-VISA

%Create a VISA-TCPIP object connected to an instrument

%configured with IP address.

vt = visa('ni',[ TCPIPO::','192.168.20.11","::inst0::INSTR');

%Open the VISA object created

fopen(vt);

%Send the string "*IDN?",asking for the device's identification.

fprintf(vt,”*IDN?");

%Request the data
outputbuffer = fscanf(vt);

disp(outputbuffer);

%Close the VISA object
fclose(vt);
delete(vt);

clear vt;

end




b)

Python 7=l

IfE: Window &%, Python3.8, PyVISA 1.11.0,

iR : @it USBTMC #1 TCP/IP i 1al{¢281% %, F7E NI-VISA EXiX"*IDN?"&&RE
WgEER.

-’I_fg%

B LR % python, PAEFTFF Python BIZAR4mIFIH, BIE—NZTHY test.py 0.

£ F pip install PyVISA E4 %% PyVISA, WA R%E, 5S 2 thiE1EF it
(https://pyvisa.readthedocs.io/en/latest/)

USBTMC 7551

import pyvisa

rm = pyvisa.ResourceManager()

rm.list_resources()

my_instrument = rm.open_resource('USB0::0x5345::0x1234::SN20220718::INSTR")
print(my_instrument.query(*IDN?"))

TCP/TP 751

import pyvisa

rm = pyvisa.ResourceManager()

rm.list_resources()

my_instrument = rm.open_resource('TCPIP0::192.168.20.11::inst0::INSTR")

print(my_instrument.query(*IDN?"))
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